** KEY Practice Exercises in Preparation for Final Exam **
16.13 Ipsilateral?  
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=.6341; H0: p = .5; see p. 534 in text, except use Table B to convert zstat of 1.72 to one-sided P-value of .0427 and two-sided P-value of .0854. Note that this provides marginally significant evidence against the null hypothesis. There is marginally significant evidence that tumors occur more frequently on the same side as cell phone use.

16.14 BRCA1 mutations in familial breast cancer cases. prevalence 
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. For 95% confidence use 
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95% CI for p = 
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 = 0.1676 ± (1.96)(0.0284)  = 0.1676 ± 0.0557 = 0.1119 to 0.2233.
16.15 Insulation workers.  See p. 534 in text except use Table B to convert zstat of 3.10 to one-sided P-value of .0010 and two sided P-value of .0020. This is highly significant evidence that the insulation have an elevated rate of cancer death.

16.16 AIDS risk factor 16.16 AIDS-related risk factor. 
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= 0.0009871. For 95% confidence, use z.975 = 1.960. Therefore, the 95% confidence for p = .002615 ± (1.960)( 0.0009871) = .002615 ± .001935 = (.00068 to .00454). 
16.17 Kidney CA. See p. 53 in text except use Table B to convert zstat of 3.16 to a one-sided P-value of .0008 and two sided P-value of .0016. This is highly significant evidence that 5-year survival has improved.
17.21 Random drug testing. 
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= 12 / 62= .1935; RR-hat = .05263 / .1935 = .2719; SElnRR = sqrt(5-1 − 95-1 + 12-1 − 62-1) = .5066; 95% CI for RR = eln(.2719) ± (1.96)( 0.5066) = e−2.295, −0.3090 = (0.10, 0.73). The confidence interval allows us to say that the population relative risk is between 0.10 and 0.73 with 95% confidence. The 95% CI for the RR allows use to say that H0: RR = 1 is likely to be incorrect. 

17.22 Cytomegalovirus and coronary restenosis.  p-hat1 = 21 / 49 = .4286; p-hat2 = 2 / 26 = .0792; RR-hat = 5.571 , SElnRR = 0.699. The 99% CI for RR = eln(5.571) ± (2.576)( 0.699) =  e1.718 ± 1.8001 = e (-.0830, 3.519) = (0.92, 33.74).  After accounting for random variation, data are consistent with an RR between 0.92 and 33.74.

17.23 Smoking cessation trial17.23 Smoking cessation trial. 

	 Data (randomized trial)
	Cease +
	Cease −
	Total

	Counseling + buprophen 
	87
	158
	245

	Counseling alone
	40
	204
	244
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 = 87 / 245 = .3551; 
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 = 40 / 244 =  .1639; RR-hat = .3551 / .1639 = 2.167; SElnRR = 0.168.             95% C. I. = 1.56 to 3.01. The relative incidence of “successful quitting” associated with adding buprophen is 2.17 (95% CI for RR: 1.26 to 3.01)
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